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o FUI AT & T [ 57 F9T-U7 4 FRa g 16 T F97 26 &)
Please make sure that the printed pages in this question paper are 16 in number
and it contains 26 questions.

o Jo7-7H ¥ e & @ G RF T FS TET Tl 6 H OH FI-Yikaw F FEI-g8 G
el

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o FYF J9T H TV TG Y& V7§ Yeer, 9T H B AT [7E]
Before beginning to answer a question, its Serial Number must be written.
o FuT-gikaw & & @] g~,/9+ T 881

Don’t leave blank page/pages in your answer-book.

o FT-YRTHE B SIRFT FF o de TEl A o SEvIRagar & g st frar Fav T
FI2]

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.
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o TETER U AT To JeT-UH YT Haed [@ T To & SIRFT FIT-YH YU o FE A T
frd sit dmfoqs 797 & Gkl q¥ el Jre @7 (9T T g

Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o U F97 % FuT 37 @ {4 & GhlEd FY d [ Fe7-0F {7 T 78 8, g # I 59
T 7 g o qar w&hHe T8 RAr aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

G 7397 -
() @4 geT fard &

(i) HEF FIT & 7% ITH QT FIT T &

(iii) 97 % TV I HBFA &1

(iv) F97 G 26 GRG F G TG F TN G qHeT &

(v) 9RT % AT B E T FTC-GRIE B ST TG & A
(Vi) HFEE G Y1 FAe-GIkTeEl T % ST g

2215/(Set : A)



(3) 2215/(Set : A)

General Instructions :
() All questions are compulsory.

(i) Marks for each question are indicated against it.
(iii) Answer the questions according to their marks.
(iv) Question No. 26 is related to filling the outline map of the India.

(v) After filling the map of the India it should be securely tied in the middle of the

answer-book.

(vi) You must write your Answer-book Serial No. on the map.

T -
PART -A

(agFrs a%)

(Objective Type Questions)
il : 39 A ® QN 9T 1-1 3% & 2

All questions of this part are 1 mark each.

1. 2 49 qae 6 g § R ® 7 1
(A)  Tod
(B) T
(C) FAleH
(D) et
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In which state is Nhava Sheva Port located ?
(A) Gujarat

(B) Goa

(C) Karnataka

(D) Maharashtra

2. 9 & § FT-91 7T a9 H TH BRI & ? 1
(A) ST T
(B) darg ST

(C) ¥ wgeT
(D) &t Tgor

Which one of the following is the cause of Acid Rain ?
(A) Water Pollution

(B) Air Pollution

(C) Land Pollution

(D) Noise Pollution
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3. 9P &1 -9 I ToT & ¢ 1

(A)  AIEA

(B) <deran

(C) &R

(D) a9

Land degradation is not result of :
(A) Erosion

(B) Salinity

(C) Alkalinity

(D) Forests

4. g% PN A 1 & | I O 787 a5 S © 7 1
(A)
(B) WX
(€) Tt

(D) =T
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Which one of the following crops is not cultivated under dry land farming ?

(A) Ragi
(B) Jowar
(C) Groundnut

(D) Sugarcane

5. 3MEo dlo glo o fFfefad & & fbm def & aftfg 2 ? 1
(A) GHaq q¥es fomrE dwm

(B) HHaW ST e T

(C) THfaq Im=T faeE quH
(D) HHaq dRae e T

ITDP refers to which one of the following ?

(A) Integrated Tourism Development Programme
(B) Integrated Tribal Development Programme
(C) Integrated Travel Development Programme

(D) Integrated Transport Development Programme
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6. ile YoMt § fhg YR & SRaAr e & 1

(A) TR

(B) HA-Tfsd
(C) uRfEa

(D) T

Which types of settlements are found in Alluvial plains ?
(A) Clustered

(B) Semi-clustered

(C) Dispersed

(D) Hamleted

7. Fg-ECHERE H GehedwT e TEId &l 7 1

Who proposed the concept of Neo-determinism ?

8. 499 AR TS &l WOl 9 g3 ? 1

When was World Trade Organisation formed ?
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9. =T AfERE (A) U6 FROT (R) W AR &30 gC RU U feedl § 8 &8l I &1 =14
HIfoTT : 1

ARH (A) : SRAET R TR @ B wE § 7

PR (R) : [ Afces FR IRl & b & g &Y ol

fwT -

(A) Baq SIRTE (A) T R

(B) ®ad BT (R) T Bl

(C) SRR (A) eIR FRO (R) AMT T&t & &R &R (R), ¥R (A) & Hel TRIH 2l

(D) SI¥B (A) SR FROT (R) IFT Tl &, AT PR (R), B (A) H Tl TENH
SR

Considering the following Assertion (A) & Reason (R), select the correct answer
from the given options :

Assertion (A) : Settlements can be of various types.

Reason (R) : Various physical factors affect the growth of settlements.
Options :

(A) Only Assertion (A) is correct.

(B) Only Reason (R) is correct.

(C) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
explanation of Assertion (A).

(D) Both Assertion (A) and Reason (R) are correct but Reason (R) is not the
correct explanation of Assertion (A).
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10. =i oifeee (A) T8 #ROT (R) W RN &0 gU U 0 feedi § 4 &8 I &

T BT 1

AR (A) : IRT F STOEM AT AR AW AAEE Al & Y IRaed & T Feager
e Bl

PR (R) : T8 389 &8 AR TRRARh T WRaed & |re 2l
Ay -
(A) ST (A) X &1 (R) 3T 98l & IR ®RY (R) ARHeH (A) 3 T8 & 2

(B) SIR1@wEM (A) X RO (R) A1 98l & AfBT BRI (R) ARMHAT (A) & & e el
2l

(C) <IN (A) T B, AfFT &R (R) a2

(D) SANHIT (A) TG © AT BRI (R) T Bl

Considering the following Assertion (A) and Reason (R), select the correct
answer from the given options :

Assertion (A) : Waterway is an important mode of transport both for passengers
and cargo traffic in India.

Reason (R) : It is fuel efficient and Eco-friendly mode of transport.

Options :

(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are correct but Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is correct but Reason (R) is incorrect.

(D) Assertion (A) is incorrect but Reason (R) is correct.
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AT - &

PART -B

(arforg ST Te)

(Very Short Answer Type Questions)
Flg : 39 AW B A U 2-2 3% B 21 A% U B IaX 20 9 30 A& F qifsa T

All questions of this part are of 2 marks each. Answer to each question in 20 to
30 words.

11. 99 TN & IY-&=0 & A SeEul 2

Name sub-fields of Human Geography.

12, H9gaE 41 2 ? 2

What is Possibilism ?

13. @B I W TH i fewelr R 2

Write a short note on Foot Loose Industry.

14. f4ea & Fifeear wdeq & &5 § oSl § WA gu el & W i 2

Name the fast emerging countries of Medical Tourism in the world.
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15. IET TR 712 ? 3% 7 FA BAd © 7 2

What are Garrison Towns ? What are their functions.

AYAT

OR
A JET qRAA % Jed YhR SeEd|
Name the main types of rural settlements in India.

HAYAT

OR

T SR 97 -
Competency Based Question :

2047%wﬁ$ma%mﬁ%§sq%ﬁwﬁ%waﬁwﬁmwﬁwm
Hhd § ?

How can we develop unconventional Energy sources in India to build a
developed nation by 2047 ?

16. TS Ja9T & 31d W FHif) 2

Explain the meaning of Hinterland ?
AYAT

OR
@i =ggs @ T o B 7

What is the Golden Quadrilateral ?
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qWT - T
PART -C
(g ST us)

(Short Answer Type Questions)

e : 39 9N B G U dlFdiT ofd B T UdS U P SA¥ 50 ¥ 70 U= F aivd o

All questions in this part are of three marks each. Answer to each question in
50 to 70 words.

17. SHIbHIT GHIT Bl G STaeel Hi faaa S| 3

Explain three stages of Demographic transition.

18. T Y ) R RifE 3

Write characteristics of Plantation Agriculture.

19. S GO F AETF © ! 36H YA G| 3

Why conservation of water necessary ? Suggest its method.

20. 9Rd & 99T 9Rart & AFifers AT H auie S 3

Describe the geographical distribution of different language families in India.
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21. ARG & [qRel SHUR & TYQ@ [QLwarel ® Swid S| 3

Mention the characteristics of India's foreign trade.

YqT

OR

ARA & s fobre & dgal # qfHe & 9o &

Describe the role of roads in the economic development of India ?

22. 91 YgU9T % TE Gl B G B 3
Describe the major sources of Air Pollution.

YqT

OR
qrg § afe aaal & qaanett & auie st

Describe the problems of Slums in India.
i -9
PART-D
(S St us)
(Long Answer Type Questions)

dlg: 39 9 & G U @y oih B 2 % U9 # S 150 ¥ 170 =t ¥ gifvd Bl

All questions in this part are of five marks each. Answer to each question in

150 to 170 words.
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23. 9Fd ™ & v T H qUH HifTT 5

Explain the four pillars of Human development.

3TeE
OR

fasg & gEa & faaRor o g9 1 yiad R i B @l e S

Discuss the factors influencing the distribution and density of Population in the

world.

24, WY T&Y M W TF Ale g 5

Write a note on Suez Canal Route.

YqT
OR

T 5 IR AUR & [0 9eds 819 & 7 U5l B el STl & STER UX STy

How are Ports helpful for trade ? Give a classification of ports on the basis of
their location.

25. 3R M ToX FAM &7 § qod-Gei [GHE F goEr 3 A U ganed| 5

Suggest the measures of promotion of sustainability in Indira Gandhi Canal
Command Area.
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YqT
OR

ARd ¥ Ygifer™ dareHl O faega feaeh fafem

Write a detailed note on the Petroleum resources of India.

3TeE
OR

T TEIRT F97 -

Competency Based Question :

e o & 9% 9 8 ARG B G 7 9Rd A el @ 3 @ e & fw e
fifel T A A R 31 3O S & dEeE ARG § fRE @ e § agd # gEar
gL Bl U I H A W HY 6 R 7 Rl # O qsmell & fw a SRR 2 e
AR | A T Y & &b & [ 1 weq Io™ =AMy ?

Since Independence, the Government of India has implemented numerous
policies and programs for the development of farmers and agriculture. Despite
these efforts there has been very little improvement in the condition of farmers
in India. In your answer, clearly explain who is responsible for the current state
of farmers in the country. What steps should we take to ensure the development

of Farmers and agriculture in India ?
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I - §
PART - E
(AefeE sTeiRa Hs)

(Map Based Questions)

Fle : g8 N AFEE & 9 ST 81 39 A & KA 9 5

This part is related to map work. Total marks of this part are 5.

26. 9RT & 1@ AR W e @ awiEy 5
Show the following on the outline map of India :
() R

Bharmaur

(ii) SfpasEy ad &=
Ankleshwar oilfields
(ili) P IeqTEh T
Coffee producing state
(iv) “IAH TR &S a0
State with lowest Urban Population
(v) =% HBFX

Mumbai Metropolitan
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